Chapter 10
10.1.1:

10-6. V =(6)(5)(8)—m(22)(8)=139.5 in3
SA=60+80+96-2(22)r+4m(8)=3114 in?

10-7. a: 70° b: 50° c: 2x
10-8. She is constructing an angle bisector.

10-9. height=6+/3 , area= (15)(6~/3)+ ¢ (1447) = 90+/3 + 247 ~ 231.3 un?,,
perimeter=15+12+12+15+ %(2471') =54 +41m=66.6 un

10-10. They intersect only once at (3,5) .

10-11. A

10.1.1:
10-17. a: 64° b: 128° c: 64° d: 180° e: 128° f: 52°
10-18. central angle=3.6°, A = 795.51square units

10-19. Sm+1=3m+9, m=4 b: 2(x+4°)=3x-9°,x=17°

(p—22+62=p2, p=10 d: 18 =360°, ¢ =20°

L

10-20. a: D(0,4) and E(4,7)
b: DE = 5units, so AC should be 10 units long.

¢ 62 +82 =10 units
10-21. b: 108° b: 72° c: 216°

10-22. D
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3:
a: 3 b: 6 c: 2 d: 1 e: 4 f: 5
a: They have the same measure.
b: C/T) ,it is a fraction of a circle with a larger diameter.

. 60 ~

¢ 55 (28m) =147
OY =KY =EY =PY (all radii are congruent), XPYO = XEYK (arc measures are
equal), soAPOY = AEKY (SAS 0O). Therefore, PO = EK because = As —= parts.
It must be a rhombus.
a: yes, (AA~), AABC ~ ALKH b: not enough information
c: yes, (AA~), AABC ~ AEDC
C

4:

.a: 50° b: 50° c: 67° d: 126° e: 54° f: 63°
a: x=319°y=10.5 b: x=37 ¢ x=347° y=+250=15.8

. a: 4 times b: 360 c: 360°+5="72°
area of the regular pentagon= 61.9 ft2; total SA = 2(61.9)+ (5)(6)(12) = 483.9 ft2
volume = (61.9)(12) = 743 .3 ft3

. a: Itis asquare. Students should demonstrate that each side is the same length

and that two adjacent sides are perpendicular (slopes are opposite reciprocals).
b: C’isat (-5,-8)and D" is at (-7,4).

C



10.1.5:

10-48. MA=14+17+6=39, MB=6,s0 AB=ER and ER =+/1485 = 38.5 feet

1 1
10-49. 1. 1=1

1

10-50. 1(9)(12)=1(20)h, h=54"

10-52. a:

10-53. E

10.2.1:

3 3
10-51. The ratio of the volumes must be (%) , S0 the volume must be (%) (5007)=4m cm3
A =549.78 sq.cm b: A=7421sq.cm c: A=2502sq.cm
1.1 . 5 _ :
3 b: 8(60) = 50 times

10-58. a:
c:

10-59. a:

10-60. a:

Answers vary, but two squares should have an even number, no numbers can
be 3, and all numbers must be less than 5.

13 b: 6.5 c: =674° d: =134.8°

Have Ken’s analyzed for $30, and use the ratios of similarity to calculate the
data for Erica’s nugget themselves.

: Since r =35, the ratio of the areas is 25. Thus, 110-25=2750 cm?2.

Since r =35, the ratio of the volumes is 53 =125. Thus, Erica’s nugget
weighs 125-56 = 7000 g, which is about 14 pounds!

10-61. 2x+3x+4x+5x=360° x=25.7°

10-62. If a point makes the inequality true, it must be in the shaded region of the graph.

a:

10-63. B

true b: false c: false d: true



10.2.2:

10-69. Region A is % of the circle, so it should result %(80) =20 times. Regions B and

C have equal weight (which can be confirmed with arc measures), so they should
each result (80 —20)+2 =30 times.

10-70. a: 3 = 40°

b: mAD =2(97°)=194° , m£C = 0.5(194°) = 97°
¢: mAB =125°and the length of AB=12(167)~17.5";

360°
area= ;%(5)2 (641) = 69.8 in2

(Y]

10-71. Methods vary, but a variety of relationships could be used, such as Parallel
Line Angle Conjectures, the Exterior Angle Theorem, or the Triangle Sum
Theorem; x =109°, y="71°, z=99°

10-72. a: 34 b: 4 c: -5 d: 2

10-73. She is incorrect, which can be tested by substituting both answers into the
equation; w=—6or 4.

10-74. A



10.2.3:
10-81. a: 12 b: 12 c: =442

10-82. Note: Equivalent equations can vary, depending on what constant both sides of
the equation are multiplied by.
a: one possible equivalent equation: 8x—-3=6x, x=1.5

b: one possible equivalent equation: 7x+4 =110, x = % =15.1

10-83. a: The top & bottom views are the same. Same is true for the right & left views
and the front & back views.
b: V=7 un3, SA =28 un?; Methods vary.
c: Since this solid has no “holes,” the surface area can be calculated by adding
the areas of each of the views.

. 4B . BC . BC . AB . BC
10-84. b: A& c: BC d: B¢ e: 4E f: £C

10-85. a: If x represents the length of chord AC , then x2 =102 +102 — 2(10)(10)cos 80°;

x=129
b: 18
10-86. C
10.3.1:

10-92. The expected value is %($3) + %(EBI) =$1.50 per spin, so each player should pay
$1.50 so that there is no net gain or loss over many games.

10-93. a: x=y b: y=2xor xz%y c: 3y=>5x d: x+y=180°

10-94. a: yes, because of the Triangle Angle Sum Theorem, 180° — 64° —26° = 90°
b: yes, because 82 +152 =172

10-95. V = (16)(16)(16) = 4096 un3; SA =6(16)(16) =1536 un?

10-96. a: not similar because there are not three pairs of corresponding angles that are congruent
b: similar (AA ~)  ¢: similar (SSS ~) d: similar (AA ~)

10-97. B



